Intercaler un décimal

Compléete avec un décimal qui convient :

8

30

700

<

<

31

701



Intercaler un décimal

Compléete avec un décimal qui convient :

7 < < 8
5 < < 6
4 < < 5
15 < < 16

34 <« < 35




Intercaler un décimal

Compléete avec un décimal qui convient :

18 ( < 19
81 < 82
32 £ < 33
4 %4 < 5

11 %4 K 12




Intercaler un décimal

Compléete avec un décimal qui convient :

77

70

38

<

<

/8

/1

39



Intercaler un décimal

Compléete avec un décimal qui convient :

8 < < 9
18 ( < 19
5 < < 6
28 < < 29




Intercaler un décimal

Compléete avec un décimal qui convient :

5 < < 6
63 < < 64
38 < < 39
36 < < 37

73 <L < 74




Intercaler un décimal

Compléete avec un décimal qui convient :

19 £ < 20
36 'Y < 37
8 < < 9
V4 £ £ 8




Intercaler un décimal

Compléete avec un décimal qui convient :

48

35

39

35

<

<

49

36

40

36



Intercaler un décimal

Compléete avec un décimal qui convient :

6 < < 7/
4 < < 5
76 £ K< 77
5 < < 6

17 ¢ < 18




Intercaler un décimal

Compléete avec un décimal qui convient :

20 (K < 21
13 £ < 14
23 £ < 24
213« < 214

62 < < 63




Intercaler un décimal

Compléete avec un décimal qui convient :

50 Dbl
4 < < 5
53 ( < bH4
83 £ 84

109 « < 110




Intercaler un décimal

Compléete avec un décimal qui convient :

32 < < 33
138 <« < 139
57 < < 58
136 < < 137

22 < < 23




